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SECTION A

Questions 1 1o 5 of the examination question paper are PRACTICAL guestions
Please answer ALL. five questions Section A counts 55 marks out of & total of 100

Please answer the questions by showing afl the steps

QUESTION1 (25 marks)

11 The average monthly ncome of households in a certamn lown increzses from R2 000 to R2 500
As a result, the quantity demanded of white bread increases from 1 000 to 1 100 units per day, the
quantity demanded of brown bread decreases from 2 000 to 1 900 units per day and the quantty
demanded af KFC: (friend chicken} increases from 300 to 500 pieces per day

111 Use the arc elasticity formula 1o caleulate _:s income | wmn_n_q of demand for white bread, brown

bread and KFC, raspectively . plat .
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112 Classify each of these three products as normal or inferior Explain your answer in each case
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113 Classiy each of these three preducts as a necessity or a luxury Explain your answer in each
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12 Assume that a firm hires 20 Jabourers at a rate of RBQ per labourer per day The average product
of the 20 labourers 1s three units per day and the last labourer adds one unit per day to the total
product The fixed cost of production 1s R360

121 What s the total production of the 20 fabourers?
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122  Whals the total cost of producing the output as calculated In question 12 17
(2
123 Whatis lhe average total cost if 60 units are produced?
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